POS.1 & -
SEEDETAL T . DETAL1 & , fb . \ DETAIL 2
g | h 78:4) . inside $480.2 / A= —-t:\ 9’\ o @514
\\ / g 1 k! ' sl o
NS (e R,
m =, =
% ) g Bl iy ' ! ] ® i 1
N Y & NN / -2
] "\ # ot / 27 9460
5 o, NS \ ’ }
2x45° || 9470 _ \ N . ]
p— a5 (3x) | " =R15 \ R /
= \ I ) /
S~ |> -
P0S.3 ¢ (¥) POS.5 ¥ (v) HLP. 9562
50 @95 ’ @514
283 | SEE DETAIL 2 100 _
-10- } i - L
v A § s S /////////{\/ A VLAY -
m N | .
NAANEEANNN N [
m B 5( N v | /
= . . ’ \ ¢
i % - ¢1205 ‘ ; ;
L) \ ; 2
15 15
s 1 6 2 4 3 N PART DATA
© Partno. | 515T.540.01
6. Numb
bos.¢ Viv) =l
540 i Material STEEL GRADE A
5 9 17 0 8 T | Grade A - LRS
35 _ 470 | -
Belonging | -
@40 to drawing
$25 mn ‘ Remarks Sharp edges
i} to be removed
g NOTE: THREAD BUSH TO BE MADE OF STAINLESS STEEL 316
; ’/ . 10 1 | Self locking nut M24 Stainless Steel| DIN 985 St.5t. A4
|/ ; 9 1 | Washer M24 Stainless Steel| DIN 125A St.5t. Ab
f | = 8 1 | Plain washer #43x9$25x3mm Nitril NBR 70° Shore A
/1 L/ =] 7 1 | Bolt M24x150 Stainless Steel| DIN 933 St.St. AL
C 1 6 1 | Seal 98 Nitril NBR 70° Shore A
5 1 | Recessed bolt housing Steel Grade A
M24 3 1 | Lever Steel Grade A Thread bush St.5t.
60 3 1 | Bracket Steel Grade A
2 1 | Manhole cover Steel Grade A
1 1 | Manhole ring Steel Grade A
Pos. | Qty. | Description Material Type/Drw. No. | Remarks
»Q/ ‘Q/ Format Subject: STEEL MANHOLE C/0 9470 Drawingnumber: | Rev.
D — —— — — — - g T
o -F T A2 [comveren TYPE CENTRAL CLOSED FLUSH 56079470 | 940.01|B
/Ot /0 Drawn : BCS
- Date : 12-02-2005
e —— - ; MARINE [z




